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QUESTION 1

A simple gaming system has been specified as a set of use cases. It has been tested by the supplier and is now ready
for user acceptance testing. The system is assessed as low risk and there is pressure to release the software into the
market as soon as possible. Which of the following test techniques would be most appropriate for this testing? 

A. State transition testing and decision testing 

B. Equivalence partitioning and statement testing 

C. Use case testing and exploratory testing 

D. Decision table testing and exploratory testing 

Correct Answer: C 

 

 

QUESTION 2

Given the following fragment of code, how many tests are required for 100% statement coverage? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

 

QUESTION 3

Given the following sample of pseudo code: 
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Which of the following test cases would achieve 100% statement coverage? 

A. A = 5, B = 10 and C = 2 

B. A = 10, B = 10 and C = 10 

C. A = 10, B =5 and C = 2 

D. A = 2, B= 5 and C = 10 

Correct Answer: C 

 

 

QUESTION 4

Which one of the following BEST describes the purpose of a priority rating in an incident report? 

A. To show which parts of the system are affected by the incident 

B. To show how quickly the problem should be fixed 

C. To show how much it would cost to fix the defect 

D. To show progress of testing 

Correct Answer: B 

 

QUESTION 5

Which two of the following are common attributes of maintenance testing? 

a) It is carried out to ensure that the system will be reliable once in service. 

b) It includes regression testing. 

c) It requires the use of fully defined specifications. 

d) It can include testing of a system after migration from one platform to another. 

A. a and b 

B. a and c 
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C. c and d 

D. b and d 

Correct Answer: D 
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